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CHEMISTRY

4,

Un

6.

- (LS
Phosphorus pentachloride v

(A)
(B)

has all the five equivalent bonds.

exists as an ionic solid in which
cation has octahedral structure
and anion has tetrahedral
structure.

on hydrolysis gives an 0X0 acid
of phosphorus which is tribasic.
(D) on hydrolysis gives an 0X0 acid
of phosphorus which is a good

reducing agent.

Identify the set of paramagnetic i0ns

among the following :

Sk . ) S
(A) Ti"™Cu Mn
(B) Ne: 1 T
I\I\ \ \ Co- a
(D) \J Cu 71
How many moles of acidified K,Cr,O-

to liberate 6 moles of L

1S required
from an aqueous solution of I

(A) 0.25

(B) 0.5
(C).. 2
(1)

I T o
;lqueous SF)lution of a salt (A) forms a
ense white precipitate with BaCl,
S(_)lunon' The precipitate dissolves in
SL'UfT HC/ to produce a gas (B) which
ecolourises acidified KMnO,
solution.
Aand B réspectively are :
W(A) BaSO, H.S
(B) BaSO,, SO,
(C) BaSO,, SO,
(D) BaSO,, H,S
2. Bond angle in PH__',l is more than that of
PH,. This is because
(A) PH, has planar trigonal structure
(B) hybridisation of P changes when
PH, is converted to PH_
(C) lonepair — bond pair repulsion
exists in PH;
{. r‘)} 1T)I ,1 has ‘»';L'“I-H;“'C -!JJI structure
3. Incorrectly matched pair 1S
(A) XeE.— distorted octahedral
7.4 4 =0
e {B) Xe(‘”.. = S.{L{Llﬂ“-' p}-'l'i:l]‘u'll(iili
(C) XeO;-— pyramidal
(DY - XeEy— tetrahedral
- eI e
il

_——bT[);‘?For Rough Work
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10.

Cu,CI

» and CuC/, in aqueous medium

(A) Both are unstable

(B) Cu,C, is more stable than CuC/,

(O) CuC‘.;’2 1s more stable than Cu,Cf:

(D) Stability of Cu,Cl, is equa] t::-
stability of CuCy,

The co-ordination number of Fe and Co

in the complex ions, [Fe{_(‘j()ﬂ_;]j_ and
[CO(SC‘NL‘]:" are respectively :

(A) 4andé6

(B) 6and4

(C) 3and4

(D) 6and8

Number of stereoisomers exhibited by
[Cot‘en): Cz’:]' iS

(A) 5
(B) 3
(C) 4
(D) 2

Give the IUPAC name  of

[Pt(NH;),] [PtCly] is

(A) tetra ammine platinate (o) tetra
chlorido platinum (IV)

(B) tetra ammine platinum (II) tetra
chlorido platinate (I)

(C) tetra ammine platinum (o) tetra

chlorido platinum (IV)

(D) tetra ammine platinate (IT) tetra

chlorido platinum (11)

11.

Space For Rough Work

Prolonged exposure of chloroform in
humans may cause damage to liver. It

is due to the formation of the following

compound :

(A) CH,Cl,
(B) Cl,

(C) . EC;
(D) COC,

Which of the following halide shows

highest reactivity towards Sy1 reaction ?
(A) CH,-CH,-CH,-CH,I

(B) C.H.CI

In the reaction :

Y - - . )' i
,/\/’“%B] + CH,NH, ME_> X

he number of possible 1Isomers for the

organic compound X is

(A) 3
(B) 2
(©) 4
(D) 5







19.

‘The carbon
undergo al

(A)

yl compound that does not
dol condensation is

trichloroacetaldehyde
(B) acetaldehyde
(C) acetone

(D) dichloroacetaldehyde
NO,

L

20 BI‘}HF@ BI:;
- — 3 3

p Sn/con.HC]
(1) NaNO, 273k
+
dil. HC!

(ii) water, warm

> R

The final product R is

Br
@\\‘,:C;

NH,
QBi

NO,

Br
H

O

(A)
(B)
(C)

B
(D)

QL

' ’s reagent 1S
Hinsberg’s reagent

(A) Cﬁ[-ﬁlﬁSO:NH3 .

(B) CH,COC!/ pyridine
(C) (C‘H«}CO)EO / pyridine
(D) CHsSOC

Q

22. Which one of the following vitamins is
not stored in adipose tissue ?
(A) D
W B E
(C) A
(D) B,
: - s R :
23. Hypothyroidism is caused by the
deficiency of
(A) Thyroxine
(B) Glucocorticoid
w7 (C) Vitamin B-12
PN, -
 ~ (D) Adrenalin
24. C, —C, glycosidic bond is NOT found
lactose
(B) C
(C) maltose
(D) sucrose
25. Which of the ;-‘L‘.I]-\\\,\_ing ;1*_\1}[11‘:1- has
strongest intermolecular forces of
attraction ?
(A) Polythene
\ N (B) Polystyrene
/
(C) Neoprene
(D) Terylene

e

Space For Rough Work
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31. The last element of the W
of the P — block in g 34, The percentage of s-character in the

, : : +

I . d by the outer most hybrid orbitals of nitrogen in NO>,
electronic configuration - : |
guration : NO; and NH;, respectively are :

period is represente

(A) 4114 5310 g2 . 4
1 R (A) 50%, 33.3%, 25%
(B) 4f1% 5410 g2 < 6
g (B) 25%, 50%, 33.3%
(C) ?S: 7pﬁ :
(C) 33.3%, 50%, 25%

(D) 5f14 6410 7¢2 ~.6 Ny
; 15 Tp (D) 33.3%, 25%, 50%

32. The conjugate base of NH. i«
319 35. The formal charge on central oxygen

(A) NH,OH

atom in ozone 1s

(B) NH; Ry
W (C) NH, (B) +1
(D) NH,OH N

. DY O

33. A oas mixture contains 25% He and

=

36. When the same quantity of heat is

75% CH, by volume at a given
and  pressure. [he | absorbed by a system at two different

temperature . :
the | temperatures T, and T,, such that

»ww mass of methanc 1n
percentage by mass 0l methane 4

W .- ' El[\ld AS, respectively. Then :
A) 92% 5 (A) S, >,
o " B) 88,<48,
©) 75% () AS, < AS,
(D) 25% | (D) A4S, =4S,

|
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